R#nfEE 3F/NF—>21 No.l DEEE
1. RO % KR X, 6) a®+ 270°

(1) a3 —0?

&, (a+3b) (a* — 3ab + 9b?)
%. (a—b) (a® +ab+ b?) (7) a® — 12507
(2) a®+ 12563

%. (a—5b) (a® + 5ab + 25b2)

. (a+5b) (a® — 5ab + 25b) (8) a®+b?
(3) a3 — 64b3
Z. (a+0b)(a® —ab+b?)
&, (a—4b) (a® + 4ab+ 16b?) 9) a® — 273
4) a3 —8p?
&, (a—3b) (a®+ 3ab + 9b?)
s _ 2 2
&, (a—2b) (a® + 2ab + 4b?) (10) a + 6463
(5) a3+ 8b3

%, (a+4b) (a® — 4ab+ 16b?)

&, (a+2b) (a® — 2ab + 4b%)



Sy
1. KOREFBA I X,

3FNF—21

(1) a®+ 83

%. (a+2b) (a® — 2ab+ 4b%)
(2) a®— 12563

%. (a—5b) (a® + bab + 25b2)
(3) a® — 64b

&, (a—4b) (a® + 4ab+ 16b?)
(4) a® + 12563

%. (a+5b) (a* — 5ab + 25b?)
(5) a® + 64b3

&, (a+4b) (a* — 4ab + 16b?)

No.2 DfEZ

6) a®—0b°

(7) a® — 8b°

(8) ad+0b°

(9) a® —270°

(10) a® + 2703

Z. (a—0) (a2 —|—ab+b2)

%, (a—2b) (a® + 2ab+ 4b%)

Z. (a+0b)(a® —ab+b?)

%, (a—3b) (a®+ 3ab + 9b?)

%. (a+3b) (a® — 3ab+ 9b?)



Sy
1. KOREFBA I X,

3FNF—21

(1) a®+ 83

%. (a+2b) (a® — 2ab+ 4b%)
(2) a®— 273

%. (a—3b) (a®+ 3ab+ 9b?)
(3) a3 —125b3

%, (a—5b) (a® + bab + 25b?)
(4) a® + 64b°

Z. (a+4b) (a* — 4ab + 16b?)
(5) a®+ 2703

Z. (a+3b) (a2 — 3ab + 9b2)

No.3 DfEZE

6) a®—b3
(1) a3 —8v*
8) a3 +b3
(9) a® — 64b3

(10) a® + 1250°

Z. (a—0) (a2 —|—ab+b2)

%, (a—2b) (a® + 2ab+ 4b%)

Z. (a+0b)(a® —ab+b?)

%. (a—4b) (a® + 4ab + 16b?)

%. (a+5b) (a® — bab+ 25b2)



R#nfE 3F/NN2—21 NodDFEE

1. RORZE K L. (6) a® + 270
1) a®+8v*
&, (a+3b) (a* — 3ab + 9b?)
%. (a+2b) (a® — 2ab+ 4b%) (1) a® —270°
(2) a®+b3
%.  (a—3b) (a®+ 3ab+ 9b?)
Z. (a+0b)(a® —ab+b?) 8) a®—8p?

(3) a® + 64b°

&, (a—2b) (a® + 2ab+ 4b%)
&, (a+4b) (a® — 4ab+ 16b?) 9) a® — 12507
(4) a® — 64b°

%. (a—5b) (a®+ 5ab + 25b%)

Z. (a—4b) (a* + 4ab + 16b?) (10) @ — 1P

(5) a3+ 12563

Z. (a—10b)(a®+ab+b?)

%, (a+5b) (a* — 5ab + 25b?)



E#ofE 3F/NZ2—>21 No.b DEEE
1. RO A& R &, 6) a®+ 270°

(1) a3 — 8b°

&, (a+3b) (a* — 3ab + 9b?)
%, (a—2b) (a® + 2ab+ 4b?) (7) a® — 64b°
(2) a®+ 12503

%, (a—4b) (a® + 4ab + 16b?)

#%. (a+5b) (a® — 5ab + 25b°) (8) a® —125p°
(3) a®-b3
. (a—5b) (a*+ 5ab + 25b)
% (a—b)(a®+ab+0?) 9) a®+ 64b3
4) a3+ 8p?
%. (a-+4b) (a® — 4ab + 16b?)
o 2 _ 2
£, (a+2b) (a* — 2ab+ 4b?) (10) a® + b3
(5) a®—27°

Z. (a+0b)(a® —ab+b?)

%. (a—3b) (a®+ 3ab+ 9b?)



